8.5

Summary of  Minor Suit Transfer Sequences

Normal accept of transfer to (’s

Super-accept of transfer to (’s
After 1NT - 2( - 3(  - we have: -

after 1NT - 2( - 2NT - it’s the same except: -

pass
= weak, 6+ (’s


3(
= weak, 6+ (’s

3(
= game force; 5+ (’s, 4+ (’s

3(
= game force; 5+ (’s, 4 (’s

3(
= game force; 5+ (’s, 4 (’s

3NT
= natural, slam interest

3NT
= to play

4(
= a big ( hand, RKCB

4(
= splinter

4(
= splinter

4(
= splinter

4NT
= strongly quantitative, 5+ (’s
4NT
= quantitative, 5+ (’s

5(
= to play


Normal accept of transfer to (’s

Super-accept of transfer to (’s
After 1NT - 2NT - 3(  - we have: -

after 1NT - 2NT - 3(  - it’s the same except: -

pass
= weak, 6+ (’s


3(
= weak, 6+ (’s




3(
= game force; 5+ (’s, 4 (’s
3(
= game force; 5+ (’s, 4 (’s

3NT
= natural, slam interest

3NT
= to play

4(
= game force; 6+ (’s, 4+ (’s

4(
= a big ( hand, RKCB

4(
= splinter

4(
= splinter

4NT
= strongly quantitative, 5+ (’s
4NT
= quantitative, 5+ (’s

5(
= splinter

5(
= to play 
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